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Can I make and use lists and tables to organise and interpret information to solve a problem? – Micky’s mice problem

Can I make and use lists and tables to organise and interpret information to solve a problem?

Micky’s mice problem

Show the children Micky’s mice problem (see below) and read through it together.

	Q
What important facts are given?


Highlight the three statements giving the combined ages of several of the mice. Explain that you are going to demonstrate how to use these facts to help solve the problem and also how to record them to make the problem easier to solve. Draw three columns on the board, headed ‘Mouse 1’, ‘Mouse 2’ and ‘Mouse 3’.
	Q
What do we know about mice 1 and 3?  What could their ages be?


Establish that their combined age is 5. Ask the class to write on their individual whiteboards all the pairs of ages that mice 1 and 3 could be.
	Q
How could we write them down to ensure that all possible pairs are listed?


Agree that starting with Mouse 1 as one year old is a good idea and build up the following table:


Mouse 1

Mouse 2

Mouse 3

1







4

2







3

3







2


4







1


Focus on the first pair of ages, one year old and four years old.
	Q
What will the age of Mouse 2 be if Mouse 1 is one year old and Mouse 3 is four years old? How did you work that out?


Establish that the ages of mice 2 and 3 must add up to 8. Work through the list in the same way as before to end up with the completed table as shown here.


Mouse 1

Mouse 2

Mouse 3

1



4



4

2



5



3

3



6



2

4



7



1
	Q
How can we work out which of these sets of ages is the correct one?


Draw out the use of the final fact (‘The total age of all the mice is 11.’) to check down the list and place a tick by the correct answer, i.e. 3, 6 and 2 because 3 + 6 + 2 = 11.

	Q
Is each mouse a different age?


Agree that the ages are all different and check through the problem to ensure that each statement is satisfied. Recap on the process of using the given information to work systematically to find the solution to the problem.


Agree that making a list of the ages of two of the mice enabled them to find the possible ages of the other mouse. Then they were able to look down the list to find which three ages had a total of 11.

Kieran’s cats problem

Show Kieran’s cats problem (see below).
Read through the problem together and discuss how it is similar to the problem they have just worked on.

Ask children to discuss in pairs how they would solve the cats problem. Take feedback. 

	Q
What is the first thing you need to do?


Agree that writing headings and listing the possibilities underneath is the first step. Ask children to solve the problem.

Stop the class to ensure that children are using the known facts and recording in a clear and systematic way, by listing.
	Q
Which facts did you use first?


Agree that one way of tackling the problem is to find the possible weights of the first two cats and then use the second fact to find the weight of the third cat.
	Q
How are you making sure that you have got all possible pairs?


Agree that listing the pairs in order is helpful, e.g. 1 + 6, 2 + 5, 3 + 4, 4 + 3, 5 + 2, 6 + 1.

Ask the children to continue to solve the problem.

· Agree that the correct answer to the problem is that the cats weigh 5 kg, 2 kg and 6 kg.
· Invite a child to explain the stages they went through to solve the problem.

Micky’s mice problem

Mickey has three mice.

Each mouse is a different age.

The total age of the first and third mice is 5.

The total age of the second and third mice is 8.

The total age of all three mice is 11.

What is the age of each mouse?
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Kieran’s cats

Kieran has three cats.

Each is a different weight.

The first and second weigh 7 kg altogether.

The second and third weigh 8 kg altogether.

The first and third weigh 11 kg altogether.

What is the weight of each cat?
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